Table S1. Partition coefficient of six esters in different matrix (kx100)

Lsters C2C3 2MeC3C2  C4C2 C2C4 3MeC4C2 C5C2
Matrix
Water 130:0.00 3912011 251013 214020  8.88+0.02  4.67+0.15
1g/LCA 113£0.02  3.60:0.13 223004 1974003  9.09+0.04  3.3420.11
25g/LCA 123000  344:0.08  255:0.02 196012  979:0.04  3.70:0.15
5 /L CA 1274002 3.61:000 262003  215:0.11  10.99:0.06  4.30:0.17
1g/LMA  123:000 386001  232:0.06  2.15:0.08  845:0.03  3.96:0.02
25g/LMA  125:0.02 390009  239:0.14  231:011  1028:0.10  4.28:0.01
5g/LMA  128:002  345:0.15 241005 240006  1126:010  4.60+0.00
1g/LLA 1.07:0.03  3.10:0.11 277004 201008  837:0.03  3.97+0.03
25g/LLA  117:002  3.16:011  3.05:0.05  196:0.06  820:0.02  3.86£0.02
5g/LLA 118:0.00  3.00:0.04 284002 175007  7.98+0.05  3.69:0.02

Table S2. The interaction mode between citric acid and esters

Esters Hydrogen bonds Free CA Steric hindrance Ternary ring
structure
C2C3 2 2 — —
2MeC3C2 2 — Y! Y
c4C2 3 — — Y
C2C4 2 — — Y
3MeC4C2 2 — Y Y
C5C2 4 — — —
! The Y means the type of this interaction exists between esters and CA
Table S3. The interaction mode between lactic acid and esters
Esters Hydrogen bonds Free CA  Steric hindrance Ternary ring structure
C2C3 1 1 — —
2MeC3C2 2 — — Y
C4C2 — — — —
C2C4 2 — Y! —
3MeC4C2 1 — — —

C5C2 2 — — —




! The Y means the type of this interaction exists between esters and CA

Table S4. The interaction mode between lactic acid and esters

Esters Hydrogen bonds  Free CA hirs:iil:rclce Ternary ring structure

C2C3 2 2 — —
2MeC3C2 3 — Y Y

c4C2 2 1 — —

C2C4 1 — — —_
3MeC4C2 2 — Y —

C5C2 2 — — Y

! The Y means the type of this interaction exists between esters and CA



